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61 circles in a circular quadrant

radius = 0.057337512219  density = 0.802172035029
ratio = 17.440589263370  contacts = 119
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64 circles in a circular quadrant
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67 circles in a circular quadrant
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N = 62

62 circles in a circular quadrant
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N = 65

65 circles in a circular quadrant
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70 circles in a circul ar quadrant
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71 circles in a circular quadrant
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63 circles in a circular quadrant
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66 circles in a circular quadrant

adius = 0.055310094377  density = 0.807656810134
ratio = 18.079588177006  contacts = 132
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69 circles in a circular quadrant
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72 circles in a circular quadrant

adius = 0.052970965638  density = 0.
ratio = 18 878266385259 contacts = 1



